(08/11/13) Wef	1004373/RIV/3 124c
-	Veh No: STO 1734B Yr Regn: 2009 / PAR
From: Date: Estimated Cost:	Type: M.Car / M.Cycle / Bus / Van / Lorry / Taxi / Prime Mover /
OD / TP / WS / TP RES / OD RES / EVA / INV / MV	Truck / Trailer or
To Inspect Vehicle No: $570134B$	Make: TOYOTA ULOS J AMO C.C. 1497
at Workshop m/s RI CO GU	Colour BLUG A/C: Insured / Std / NI / NA
of 8, KMKI BUKIT MEY # 02-24	Sp.Reading 304550 T/Radio: Insured / Std / NI / NA
Insured: CT	Eng/No:
Policy No.	C/No: MROS3HY9305110345
Claims No.	Gen. Cond: Good Faty- Poor / Burnt
Sum Insured: Excess:	Steering: Inorder/ Jammed / Leaked / Burnt or
(Client's Record)	Brake: norder / Jammed / Leaked / Burnt or
Make of Veh:	Modi: Nil S/Rim / STD A/Rim or
· / · · · · · ·	Tyre Size: F: 195 5 RL
(Policy Condition)	R: ac
Remark: The veh had commenced its N/S	O/S BS / DUN / EXNOVA / GY / FS / LIZA / MIC / OHTSU / PIR / SUMI /
repair at the time of inspection.	TOYO / YOKO or MAXXIS
Bal. or Market Value:	Front Rear
IDAC Accident Rport: Consistent? : Yes or No	R/Balmm
GIA / PR Seen: Consistent? : Yes or No	L/Bal. L/Bal. 6 mm
Est. Repairs: days Res.: Yes or No	D.O.A. 21/03/21 D.O.I. 06/04/21
Lum Sum: % 3 Val.: Yes or No	Survey held at RICO GO
CA / REV / REP. / 24 HRS	Des. of Damages : Frt Rear O/S N/S U/C Rooftop or
Vehicle: IN	
Date / Time Action / Instruction	The U/C / Chassis frame / Body Structure affected due to collision.
Repair Init-12K	
/Time, File Pass to? : Preli. Report : Final Report	Days Of Repair: Resurvey No. of Trip: Survey Fee: Transportation:
	d Fee: : Site Insp (\$)s+Rs,si
Aut	: Interview (\$) Photos
ort Format :	: Tech. Invs (\$) Others
an Sum / I B I: /\$: Weekend(\$



Rico 60 Auto Services Pte Ltd Blk 8, Kaki Bukit Avenue 4, #02-24 Premier @ Kaki Bukit Singapore 415875

Email: claims@rico60.com Tel: 6286 6060 Fax : 6286 7060

TO: CHAINA TAIPING
Vehicle No : SJQ 1734 B
Make & Model : TOYOTA VIOS

DATE: 31/3/2021

RICO Office Use Only

Parts -%	
SN	
Labour	
Total	
Lump Sum	
ERV	12K

No.	DESCRIPTION - PARTS	QTY	UNI	T PRICE	1	PRICE
1	BOOTLID 4/	1	\$	754.60	\$	754.60
	BOOTLID LOGO Au/	1	\$	89.00	\$	89.00
3	BOOTLID EMBLEM(VIOS) New /	1	\$	92.40	\$	92.40
4	BOOTLID OUTER GARNISH ★	1	\$	225.80	\$	225.80
5	BOOTLID CAR PLATE LAMP ✓	2	\$	89.50	\$	179.00
6	BOOTLID STOPPER Ma/	2	\$	30.00	\$	60.00
7	BOOTLID INNER LOCK H/	1	\$	319.50	\$	319.50
	BOOTLID LOCK CATCH 🗡	1	\$	36.00	\$	36.00
9	BOOTLID WEATHERSTRIP ~ /	1	\$	198.60	\$	198.60
10	BOOTLID STOPPER / / /	4	\$	30.00	\$	120.00
11	BOOT LID HINGE 🗡	2	\$	217.50	\$	435.00
	REAR BUMPER &/	1	\$	489.00	\$	489.00
13	REAR BUMPER SIDE RETAINER	2	\$	89.50	\$	179.00
14	REAR BUMPER ATTACHMENT RETAINER	2	\$	78.90	\$	157.80
15	REAR BUMPER REFLECTOR CAL	2	\$	76.40	\$	152.80
16 l	REAR BUMPER BRACKET 1/4/	2	\$	135.00	\$	270.00
17	TAILLAMP (M/	2	\$	485.00	\$	970.00
18 7	TAILLAMP INNER SPONGE SEAL And /	2	\$	25.00	\$	50.00
_	AILLAMP LOWER BARCKET 🗡	2	\$	67.20	\$	134.4
	AILLAMP PANEL 🗡	2	\$	133.50	\$	267.0
_	EAR FENDER 🗡	2	\$	965.00	\$	1,930.0
	EAR FENDER INNER COWLING	2	\$	194.60	\$	389.2
3 R	EAR FENDER INNER TRIM W/ / //	2	\$	268.00	\$	536.0
$\overline{}$	EAR FENDER AIR VENT 🗡	2	\$	56.00) \$	112.0
	EAR WINDSCREEN MOULDING 🗡	1	\$	125.00		125.0
	EAR END PANEL 64/	1	\$	548.00) \$	548.0

				_	
REAR END PANEL TOP GARNISH CM	1	\$	178.50	\$	178.50
28 REAR FLOOR PANEL 7 ×	1	\$	845.00	\$	845.00
29 REAR FLOOR PANEL TOP BOARD CALL	1	\$	499.00	\$	499.00
30 REAR CENTER TOOL SPONGE # La /	1	\$	374.50	\$	374.50
31 REAR SIDE TOOL SPONGE 🗱 cm/	2	\$	237.90	\$	475.80
32 REAR SPRE TYRE BOLT	1	\$	59.00	\$	59.00
33 REAR CHASSIS MEMBER FUNN	1	\$	742.60	\$	742.60
34 REAR EXHAUST PIPE 6/ 7 hold.	1	\$	595.40	\$	595.40
35 REAR EXHAUST INSULATOR '	1	\$	99.60	\$	99.60
36 REAR EXHAUST MOUNTING	1	\$	58.20	\$	58.20
37 REAR EXHAUST GASKET 🗡	1	\$	45.00	\$	45.00
38 EXHASUT CHROME HEAD 🗡	1	\$	150.00	\$	150.00
k _t :					10.010.70
100			Subtotal:	\$	12,942.70
			Less 25%	\$	3,235.68
		P	Parts Total :	\$	9,707.03
NO SPECIAL NETT	QTY	111	IIT PRICE		PRICE
NO.	1	\$	50.00	\$	35 50.00
1 REAR NUMBER PLATE SUL	1	\$ \$	50.00	\$	3 50.00
2 REAR BUMPER CLIPS M	1	У \$	30.00	\$	20 30.00
3 TAILLAMP CLIPS	1	\$	80.00	\$	× 80.00
5 REAR FENDER COWLING CLIPS	1	\$	30.00	\$	× 30.00
6 REAR FENDER INNER TRIMD CLIPS	1	\$	40.00	\$	20 40.00
7 REAR END PANEL TOP GARNISH CLIPS	1	\$	30.00	\$	20 38.00
8 REAR END PANEL INSULATION SEAL MALE	1	\$	150.00	\$	60 150:00
9 REAR FLOOR PANEL INSULATION SEAL	1	\$	150.00	\$	150.00
10 REAR WINDSCREEN SEALANT	1	\$	60.00	\$	60.00
11 REAR WINDSCREEN INNER SEAL	1	\$	60.00	\$	
12 REVERSE SENSOR AW	1	\$		<u> </u>	2cr 350.00
12 REVERSE SENSOR RW >	ı	Ψ	350.00	1	200.00
	SDE	CIAL	NETT	\$	1,080.00
LABOUR FRONT REAR				Ψ	
					PRICE
PANEL BEATING, REMOVAL AND REPLACING P.	ARTS	3	600	1	
O SPRAY PAINT AFFECTED AREA			600		1,800.00
			80	;	\$ 250.0
UFF COAT					
UFF COAT VIRING CHECK			30	1	\$ 100.0
VIRING CHECK EMOVE AND REFIX CUSHION SEAT/ UPHOLST	RY A	ND	POOF.		. /
VIRING CHECK	RY A	ND			\$ 100.0 \$ 300.0
/IRING CHECK EMOVE AND REFIX CUSHION SEAT/ UPHOLST			ROOF		. /

	Total Repair Cost	\$ 15,977.03
	Total Labour Cost	\$ 5,190.00
	Total Parts Cost	\$ 10,787.03
	LABOUR TOTAL	\$ 5,190.00
REMOVE AND REFIX REAR EXHAUST PIPE	80	\$ 150.00
CONDUCT WATER LEAKAGE TEST	30	\$ 100.00
TRANFER REAR WINDSCREEN	×	\$ 150.00
RANFER BOOTLID MECHANISM	60	\$ 120.00
AR CHASSIS ALIGNMENT		\$ 390.00

APPROVED DETAILS
NO. OF WORKING DAYS
PART BY PART OR LUMP SUM
DATE & TIME OF SURVEY 06/04/21@1120
SURVEYED BY PASUL CLKK
CONTACT NUMBER 9000068
FAX NUMBER

Pag after vapa, V

LKK Auto Consultants hence notify

the Repairer of the following:

- To resurvey before/after spray painting
- To display damaged part(s) during resurvey
- Parts prices are subject to confirmation
- Third party survey is on a "Without Prejudice" basis
- No illegal modification(s) is allowed
- Supplementary item(s) must be resurceyed and is subject to final approval from Insurance Company

Acknowledged by Repairer

Signature:

Date:

\$10121450001 / 1ST AUTOWORKS PTE LTD ENTRY DATE & TIME: 05/04/2021 11:24 (SGT) SUBMITTED BY: Tan Guan Hin Ronnie VERSION: 1 (05/04/2021 11:24 (SGT))

© SINGAPORE ACCIDENT STATEMENT

IMPORTANT NOTICE

Please report <u>correctly</u> the details of the accident to speed up the claims process.

2. This Form must be completed by the Policyholder and/or the Authorised Driver

- 3. Information provided must be as truthful and accurate as possible. Any wilful misrepresentation or witholding of material facts may allow insurance companies to repudiate 4. The issue and acceptance of this Form by insurance companies is not an admission of policy liability on the part of the insurance companies. policy liability.

- 5. Any false reporting may be referred to the Police for investigation.
 6. This report will be forwarded by the insurers of the GIA Records Management Centre established by the General Insurance Association of Singapore (GIA) for archiving and that copies of this report will, for a fee, be made available upon application by interested parties.
 7. By the lodgement of this report to the insurers, you hereby consent to the archiving of this report at the centre and to copies of the report being made available aforesaid.

ACCIDENT STATEMENT

05/04/2021 11:24 (SGT) Date of Submission 31/03/2021 13:59 (SGT) Date of Accident Exact Location of Accident Singapore PIE/ Tuas Before KPE Additional Location Information Country/State of Loss Singapore

DETAILS OF OWN VEHICLE

Vehicle Registration Number SJQ1734B

INSURED/POLICYHOLDER

Is company? Name Of Registered Owner Justin Yeo Jun Meng NRIC No SXXXX124C Email Address yeo_justin@icloud.com (Phone) +65-96447427 Mobile Phone No (Home) +65-96447427 Alternative Phone No

VEHICLE PARTICULARS

Tovota Manufacturer Vios Model Variant Exact purpose for which vehicle was being used at time of Private use accident Are you claiming under your own insurance policy for repair to No - Claiming third party your vehicle? Vehicle Category Private car Transmission Auto 1400 CC

INSURANCE COMPANY

Direct Asia Insurance (Singapore) Pte Ltd Name of Insurance Company Type of Coverage ThirdParty Fleet Policy No Policy Number MT 00876354 Cover Note Number

DRIVER

Name of Driver Justin Yeo Jun Meng NRIC No SXXXX124C

pate Of Birth Occupation Date Of Driving Pass Driving experience Gender Mobile Number Alt. Phone Number Email Address Address Address Address complement Postcode Is the driver the policyholder? If No, Relationship of the Driver with the Insured Does Driver Own Other Vehicles? Vehicle Registration Number of Other Vehicle Owned by Driver Insurance Company of Other Vehicle Owned by Driver	Indoor 19/11/2020 4 MONTHS Male (Phone) +65-96447427 (Home) +65-96447427 yeo_justin@icloud.com 767 Bedok Reservoir View #06-219 - 470767 Yes - No
GENERAL INFORMATION OF THE ACCIDENT	
Type of Accident Weather Conditions Road Surface	Chain Collision Clear Dry
OTHER INFORMATION	
Was any foreign vehicle involved in the accident? Number of vehicles involved in the accident Was anybody injured in the Accident? Was any injured conveyed to hospital by ambulance? Was any other material or property damaged? Number of Passengers (Including Driver) Has the driver been approached by unknown person(s) soliciting/offering accident claims assistance?	No 3 Yes No Yes 1
DETAILS OF POLICE ACTION	
Was the accident reported to the police? Police Station Name Police Station Phone No Alt. Police Station Phone No Police Station Address Was notice of intended Prosecution given? If yes, against whom?	Yes Traffic Police (Phone) +65-65470000 (Fax) +65-65474900 10 Ubi Avenue 3 Singapore 408865 No
CIRCUMSTANCES OF ACCIDENT	
Report Please refer to Police Report	
ATTACHMENT(S)	
Are accident photos available for attachment? Was there any video captured by Car Camera? Was there any audio recorded?	Yes No No
Vehicle Registration Number Vehicle Manufacturer Vehicle Model Vehicle Variant Vehicle Colour Vehicle Category	SGS994Z Private car

Name of Driver			the second and the second	_
Name of Direct				_
Contact				_
				-
Address complement				-
-tcode			*********	-
Insurance Company	Name			_
Nature Of Damage				
Nature of parriage	maged in accide	nt	4 > 4 > > > > > > > > > > > > > > > > >	-
Details of property da	iliageu III acciue	ш		-
No. Of Passenger (In	cluding Driver)			-

DETAILS OF OTHER VEHICLE PROPERTY 2

Vehicle Registration Number	SGW994C
Vehicle Manufacturer	-
Vehicle Model	-
Vehicle Variant	-
Vehicle Colour	
Vehicle Category	Private car
Name of Driver	-
Contact Number	-
Address	-
Address complement	-
Postcode	-
Insurance Company Name	-
Nature Of Damage	-
Details of property damaged in accident	-
No. Of Passenger (Including Driver)	-

INJURED PERSONS DETAILS

INJURED 1

Name of injured person Address	Justin Yeo Jun Meng 767 Bedok Reservoir View #06-219
Address Complement	-
Post Code	470767
Approximate Age Years Old	<u>-</u> 3
Injuries Sustained	unknown
Injured person in which vehicle?	SJQ1734B
Were seat belts worn?	Yes
Was this injured conveyed to hospital by ambulance?	No

circumstances of the				O management of the contract o
	No.			
				X
				10
			101	10
			M	
			,	<u> </u>
		; })	
		No		
		40,		
		A		
		-		
	7)		
	/			
() e	/			
Q.				
<u> </u>				
tion				
are the foregoing particulars ar	re true in every respect.			

Driver's Signature (If driver is not the policyholder) / Date & Time

Accident report \$10121450001

Witnessed by Reporting Centre Personnel





T/20210331/7023

Report No. T/20210331/7023

Police Station Of Origin: Traffic Police 10 Ubi Avenue 3 SINGAPORE 408865 Tel No: 65470000

REPORT OF A TRAFFIC ACCIDENT

Date/Time 31/03/202	Report M 1 15:54	ade:	Vide Report No.:	Station Diary No.
Informan	's Particu	lars		
Name of I	nformant: 'EO JUN N		Address: 767 BEDOK RESERVOIR VIE 470767	W #06-219 SINGAPORE
ID Type / NRIC NO	ID No.: / S980312	24C	Contact No.: Home/Office:	Mobile; 96447427
Nationalit	y: ORE CITIZ	EN	Email: yeo_justin@icloud.com	
Sex: Male	Age: 23	Date of Birth: 10/01/1998	Type of Informant: Driver	
Race: Chinese			Language: English	Institution / School Name:
Occupat Student	ion:		Driving Licence Information: Class: 3A	Date of Expiry:

Type of Others		Drink Drive:	Date/Time of Accident:	Type of Location: Straight Road
Accident:	Others	No	31/03/2021 13:55	0110
Location: PAN ISLAND	EXPRESSWAY			
12 12 12 12 12 12 13 14 14 15 15 15 15 15 15 15 15 15 15 15 15 15		Road Surface: Dry		Road Speed Limit:
Weather: Clear Traffic Flow: One Way		Dry Traffic Control: Not Controlled		Traffic Volume: Moderate

Details of Vehicle Involved						
Vehicle No.	Type	Make	Model	Color	Conditio	Nest
SGS994Z	Car				CONTROL	0
SGW994C	Car					0
SJQ1734B	Car	TOYOTA	1000 1			0
00011046	Odi TOTOTA	VIOS J AUTO	Blue		0	





Police Station Of Origin:

Traffic Police

10 Ubi Avenue 3 SINGAPORE 408865

Tel No: 65470000

2 of 3

Report No. T/20210331/7023

CONTINUATION OF REPORT

	chicle insurance			
	Insurance Company	Insurance No	Effective	Expiry Date
SJQ1734B	DIRECT ASIA INSURANCE (SINGAPORE) PTE, LTD.	MT/00876354	19/12/2020	26/04/2022

Details of Person Any Pedestrian In			Beren Beren Kally			ANTE CONTRACTOR OF STREET
No. of Pedestrian	Use of Pedestrian Crossing: NA					
Driver /						
Name	JUSTIN YEO JUN NENG			ID No.		S9803124C
Related Vehicle	SJQ1734B (Car)			Conta	ct No.	96447427
Hospital/Clinic	OUR FAMILY PHYSICIAN CLINIC & SURGERY			Class Driving Licence Expiry	e &	Class: 3A Date of Expiry: NIL
Date	31/03/2021		Date			3/2021
No. of Days granted Medical Leave 05			Degree o	Degree of Serious		ous

Brief Details.

ON THE STATED DATE AND TIME. I , VEHICLE A (SJQ1734B) WAS TRAVELLING STRAIGHT ON THE STATED VENUE. WHEN THE FRONT VEHICLE SLOWED DOWN AND STOP, I FOLLOWED SUIT WITHOUT HAVING ANY COLLISION WITH THE FRONT VEHICLE. SUDDENLY I FELT A HUGE IMPACT FROM THE REAR PORTION OF MY STATIONARY VEHICLE. AFTER I ALIGHTED I THEN REALISE THAT IS VEHICLE B (SGS994Z) THAT HAD COLLIDED ONTO MY VEHICLE. I WISH TO STATE THAT THIS IS A 3CARS CHAIN COLLISION.

DUE TO THE IMPACT I WAS INJURED WITH NECK, SHOULDER AND BACK PAIN I WENT TO SEE THE DOCTOR AND WAS GIVEN 5DAYS MC.

VEHICLE A: SJQ1734B VEHICLE B: SGS994Z VEHICLE C: SGW994C



Police Station Of Origin: **Traffic Police** 10 Ubi Avenue 3 SINGAPORE 408865 Tel No: 65470000



Report No. T/20210331/7023

3 of 3

CONTINUATION OF REPORT

Sketch Plan

Informant is not able to provide sketch

Signature Of Officer Recording The Report: Not applicable	Signature Of Informant: The identity of the person making this report has been authenticated by SingPass. No signature is required.
Signature Of Interpreter: Not applicable	Date/Time: 31/03/2021 15:54
Officer In Charge Of Case: TP / TPIB / TAY CHUN KEEN Contact No.: 65476179	Classification Of Case:

NP168

Toyota Vios 1.5A J (COE till 03/2024)

Overview

Financial

Accessories

Similar

Research

Photos

Map

Price

\$20,500

Depreciation (?)

\$6,860 /yr

Reg Date

08-Apr-2009

(2yrs 11mths 26days COE left)

Mileage

153,000 km (12.8k /yr)

Manufactured (?)

2009

Road Tax (?)

\$821 /yr

Transmission

Auto

Dereg Value ①

\$7,630 as of today (change)

OMV (?)

\$11,696

COE (7)

\$12,763

ARF (?)

\$11,696

Engine Cap

1,497 cc

Power

80.0 kW (107 bhp)

Curb Weight ②

1,095 kg

No. of Owners (?)

Type of Vehicle

Mid-Sized Sedan

Features

Airbags, ABS, Side Mirror Indicator. View specs of the Toyota Vios (2007-2013)

Accessories

Sports Rims, Leather Seats, CD/MP3/WMA Player, Reverse Sensors.

Category

COE Car

Status

Available for sale. Shortlist this car to get alerted whenever the price or availbility changes.

Resources



Vehicle Evaluation

Afraid of lemons? Request to have this car evaluated professionally. Find out more



Car Valuation - Free

Find out the market value of your existing car for free. Get started

Posted on: 03-Apr-2021 | Last Updated on: 04-Apr-2021

Upfront Payment

» more Financial info

OCBC Bank

Transfer Fee ①

\$25

Down Payment (1)

\$6,150 (change) Maximum 70% Loan

\$449 Based on 2.48% interest rate

1st Instalment ①

Get your loan approved now in 60 seconds. T&Cs apply.

Learn More

Total Unfront Payment ①

\$6,624 Check with seller for

Compare

(excluding insurance)











Shortlist

Compare

More

Seller Information

Lim Khim Motor Tradin

4 vehicles for sale. 8 sold in past

♀ 160 Sin Ming Drive #03-18 Sin Ming AutoCity Search cars nearby

Eric Lim

ack to OneMotoring

Enquire PARF/COE Rebate for	r Registered Vehicle
The same of the sa	Transfer ed verificie

Vehicle Owner Particulars Owner ID Type:	
	Singapore NRIC
Owner ID: Vehicle Details	124C
Vehicle No.:	SJQ1734B
Vehicle to be Exported:	
ntended Deregistration Date:	No 05 Apr 2021
Vehicle Make:	TOYOTA
Vehicle Model:	VIOS J AUTO
Primary Colour:	Blue
Manufacturing Year:	2009
Engine No.:	1NZX895660
Chassis No.:	MR053HY9305110345
Maximum Power Output:	80.0 kW (107 bhp)
Open Market Value:	\$12,047.00
Original Registration Date:	27 Apr 2009
	27 Apr 2009
First Registration Date: Transfer Count:	5
	\$12,047.00
Actual ARF Paid: Intended PARF Rebate Details	4.2 -1
PARF Eligibility:	Forfeited
	-
PARF Eligibility Expiry Date: PARF Rebate Amount:	\$0.00
Intended COE Rebate Details	
COE Expiry Date:	26 Apr 2024
COE Category:	A - Car (1600cc & below)
COE Period(Years):	5
PQP Paid:	\$13,088.00
	\$8,005.00
COE Rebate Amount: Total Rebate Amount: Message	\$8,005.00

Please note that the 5-year COE for this vehicle cannot be further renewed. The vehicle must be de-registered upon COE expiry or when vehicle reaches its statutory lifespan (if applicable), whichever is earlier.

The information contained herein is correct as at 05 Apr 2021

ОК